
MNG2602 STUDY GUIDE SOLUTION 

LEARNING UNIT 6: DIVERSITY 

 

MULTIPLE-CHOICE QUESTIONS  

 

1. 4 

2. 2 

3. 1 

4. 4 

5. 1 

6. 2 

7. 1 

8. 4 

 

CROSSWORD 

 

There is a problem with the numbering in this crossword!  

 

Across: 

5 should be numbered 7: Costs 

7 should be numbered 5: Stakeholders 

 

Down: 

1 should be numbered 2: Competitive advantage 

2 should be numbered 6: Human resources 

3 should be numbered 4: Culture 

4 should be numbered 1: Appraisal 

6 should be numbered 3: Equal opportunities 


